Q1\Answer:-
1-Ae=2B o ,2- Phyy, of B =1 WEEK =7 DAYS=24 x7 HOURS= 60 x24x7 MINUTES=360x24x7sec=
3‘Bi01/2 of B= ( 1/3) Phy1/2

1
Biol/2 xPhyl/2 (3XPhy1/2xPhy1/2) (Phy1/2)? /3

Eff,/,=— = =
Y2Bio1/2 + Phy1/2  LiPhy1/2 + Phy1/2 (3 Phyl/2

= Effl/z :Phyl/z /4 this is for B,

2 Aei=2B of = Aeg=2( Phyyy, /4)= Phyy), /2= (1 WEEK)/2=(7 DAYS)/2=(24 x7 HOURS)/2=84 h,

.. the total time period required for the effect of the radioactive material that the patient was treated
with equal to zero =2( 84h)=168h.

Q2\ Answer:-

Blood pressure values to healthy young dentist=120/80 mmHg —=then for liquid have the same density
to healthy human unclotted blood =(Hg density/ blood density)x(120 /80).

Or 120 x(Hg density/ blood density)=120 x(13.6 g.cm™/1.0565 g.cm™ ),
80 x(13.6 g.cm™/1.0565 g.cm™),

Q3\ Answer:-

-.C=0.001L ~--—-(2) f=5L ------ (3) BY PUT (2)& (3) in (1)=

1 1 2, 4_ 1 _1 2)4_ - 2\1/4
L\/OOI_TCL “Tovooor " L _100(0.001)_0.137c L'=10= L=(10/7%)

1 1
L_ZTE\/(O.OOL)L_]'OTCL_\/LZ ooor-107L=

L=(10/9.8596)"*~1 = .. L=1H = f,= 5L=5H,,C=(0.001)L =C= 0.001F =

X =2nf L=2x3.14x5x1=31.4Q0

Xc=1/2nf C = 1/2x3.14x0.001=1/6.28x0.001=159.235Q2 .

Q4\ Answer:-

A=A.e~* t=t ,A=50/t , A=10D/sec =

5 10= Ao e~ (730/0t 10=A. e5° = A.= ¢5°/10 =5,184,705,528,587,072,464,087.4533229335/10 =
550U amy e UL S 5 5L 08 G ) o sl dae ) - Alaadle
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